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row; address of memory location
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Memery map for p:

] Ist row: value or contents of memory location,

2 row: address of memory Joestion
4. 1

In continuation to the previous code, what will be the cutput of the following ststements? You are
nqﬁnduuﬂh:nnemndﬁmuudmwnmmpmmmuﬁﬂhm

a) printf( “p: Zp\n* , p);
8) primtf( “*p: Xd\n" ,%p); ¢
€) printf{ “Np: Tp\n" , Bp); .

4. 110 marks| Declare and define a one dimensional dynamic array of integers A ofslswas '
mﬂhﬂ"mhﬂmmlmmﬂhl‘-
ﬁlﬂkﬂﬂtﬁ:nﬁﬂlmylpuhhthrupuﬂunﬂﬂmﬂum-.“
MhﬁlMMWMAﬂLﬂH#HMH-ﬂ-n

Q.2. Answer the following questions: (3x10=30)

[10 marks] Part A sy
You are provided with file "dictionary.txt” consisting of a paragraph of text in English. Read the file and -
do the following tasks:

1. Count no of words that have two A or & in them CC, ..ZZ Words
2. ﬁﬂuﬁﬂmuh-ﬂ-ﬂ“"“-‘ﬂ rall
wmmmm-ﬂu-hl-ﬂ-#""" -
and sum total




[10 marks) Part C
Ve m&lﬂhmqﬂnﬂmumlmﬂmhlﬂ-hlhiﬂ

ﬁvﬂhl.lfnioﬂimﬂhﬂywiwﬂlnwh terminating
process with the new value of g
'ﬁ‘hﬂln-l.Fwnmﬂ.hdemﬂMﬁﬂhmhl'ﬂ‘ :

221134175226134020105168421 ' ' Pt e

For az input n, the cycle-length of n is the pumber of numbers generated up to and h“ﬂl._lﬁ
example above, the cycle length of 22 is 16. Given any two numbers | and j, you are 1o determine the
maximum cycle leogth over all numbers between | and |, including both endpoints.

Input:

The input will consist of a series of pains of istegers i and j, one pair of integers per line. Al integers will
be less than [,000,000 and greater than 0

Output:

For each pair of input integers 1 and ), output |, | in the same order in which they appeared in the input and
then the maximum cycle length for integers between and including | and j. These three aumbers should be
separated by one space, with all three numbers on one line and with one line of output for each line of
input

Sample loput:

110

100 200

201210

900 1000

Sample Output

11020

100 200 125
201210 89
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Q.1. Answer the following short questions: (5x6=30)

1) What is numeric overﬂow?
2) What happens in a while loop if the control condition is true initially?
3) What does the term "passing a parameter by value" mean inthe context of a function?
4) Write the output produced by the following program.
bool x = Faise, y = taue; |
y =x|] ty;
y=Ix& ly || x && y;
x = 1(x 1] y) & (x 8& y);
cout << X <<."\t" << y << endl;

5) write the output produced by the following program.
for (int i = @; i < 6; i++)

if (1 % 2 == 0)
cout << i * i << "\t";

else iIf (i ¥ 3 == 9)
cout << i + 1 << "\t";

else if (1 % 5 == @)
cout << 2 * i - 2 << "\t";

else
cout << 1 <¢ "\t“:

Q.2. Answer the following questions: (3x10=30)

1) Write a program that calculates a car's gas mileage. The program should ask the user to enter the number
of gallons of gas the car can hold, and the number of miles it can be driven on a full tank It should then
display the number of miles that may be driven per gallon of gas. .

2) Write a program that prompts the user to input a number between 1 and 10 (inclusive). The program
should use a switch statement to display the corresponding Roman numeral for the entered number. If
the user enters a number outside the specified range (less than 1 or greater than 10), the program should
display an error message and prompt the user again for a valid input.

8) Write a program that prompts the user to enter the length of 3 number and the number itself. The program
should then calculate and display the sum of all the digits in that number. The length of the number should

be entered before entering the actual number.



